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'_:“ >>> from machine import ADC

>>> light = ADC(5) <
e ) o >>> light.read()
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from machine import Pin,ADC if (SRRt
from gpb import LED,delay B ST RS E Y S E
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>>> from sensor import DHT11
>>> dht = DHT11(6)
>>> dht.temperature()

cescecrsvesee 26.8
MPDPDDP PP >>> dht.humidity()
PPPPPPPPPPPE 5> g
>>> dht.humidity()
iiliiiiiiiin ss.e
S-S5 S-5-595-5 >>> dht.humidity()

73.0
>>> dht.temperature()
27 .5
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from sensor import DHT1l
from gpb import delay

= e 3 73 N
[ E*Eit% fﬁ;m; as ,E A 2% sample code_dhtl1.py

str( BILAASE iR E SR =8 )

dht11l = DHT11(6)

while True:

—

A 4
print(str(dhtll.temp

erature())|+ "°C")

print(str(dhtll.humi
delay(2000)
4

HERED

dity()) + "%")
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>>> from sensor import HC_ SR04
>>> sre4 = HC _SRe4( 10 , 11 )
>>> sre4.Ultrasound()

16
>>> srod.Ultrasound()
30
>>> sre4.Ultrasound()
45
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from sensor import HC_SRe4
from gpb import delay

sre4 = HC_SRe4( 10 , 11 )

while True:
print(str(sre4.ultrasound())+"cm"
delay(1000)

R SoATEEEAY
BRI T ERIR
ZERERIEM ER,

SERIE(Shell)

42cm
14cm
19cm
30cm
42cm
42cm
43cm

o[ AIFEREESE] : 2cm ~ 450cm
HBHEE (KAEKE) : BlfE o



/7 /

3

4 > ﬁﬂﬁl%%
b i - HBRBFE IR

PART /



I8 PWM{AL
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Al13

PWM7

Servo(7)

>>> from
>>> door
>>> door.
>>> door.
>>> door.
>>> door.

gpb import Servo
= Servo(7)
angle(90)
angle(0)
angle(-90)
angle( , )
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1 from gpb import Servo # [ Servo
2 from gpb import delay # A dela
o

4 servol = Servo(1) # 155FH PwMs i Servol
5

& while True: # True

7 servol.angle(9) # {21

8 delay(560) # F 0.5

S servol.angle(-59) # IERFETER 50
10 delay(560)

11 servol.angle(9)

12 delay(560)

13 servol.angle(50) % 50
14 delay(560)
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from machine import Pin,ADC
from gpb import LED, Servo, delay

door = Servo(7)
light = ADC(5)

door.angle(9)

while True:
if

else:

print(light.read())
delay(500)






